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�#���<� ���� ti, xi, Ii ��� i = 1...∞5

G({ti, xi − Ii, xi}∞i=1 , x) =
∞∑
i=1

e−rtig(xi, xi − Ii) 738

�(�(
ẋ(t) = F (x(t)) �� t ≥ 0, t /∈ ti , i = 1, 2, .. x(0) = x0 �����,

lim
t→t+i

x(ti) = lim
t→t−i

x(ti) − Ii, xi = lim
t→t−i

x(ti),

Ii ≤ xi, x(t) ∈ [0, K].
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v(x) = max
{ti,xi,Ii}∞i=1

G({ti, xi − Ii, xi}∞i=1 , x) 7+8
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v(x) = max
y∈[0,K],t≥0

e−rt [g(φ(t, x), y) + v(y)] , 7,8

����� φ(t, x) �� ��� ��	���
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�	 ��� �
��
��	� "��� ���
 �����	��	 #$%&'� (� ��
�	 �� )*
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-�������� �	� -�������� #+.&� ��� /�����
	��	 �	� ��� ���� 
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	� ��� ����	 ��
��� �
��
��	� ������
	��

H(x, λ) = λ(t)F (x(t)),

����� λ(t) �� ��� ��0
�	� �������� �� ���� t �	� ���
 �������	�� ��� ����
� ���
� 
� 
����	���
1� 	
�� ��� ��
�� ������� ��
� 
����	�� π(x, I, t) = e−rtg(x, x− I)� 2�
������ 

	����
	�
�� ��� �
�	�� ����
�� 0���� (t �= ti) ���

λ̇(t) =
−∂H
∂x

(x(t), λ(t)) = −λ(t)
∂F (x)

∂x(t)
, 7G8

λ(t) � ∂π(x(t), 0, t)

∂I
, 7F8

����� "3' �� ���

����� �
 ��� ��
� ���� 
	�� �
�	���� 0���� ��� �
������� �	 ��� �
��
��	��
�� ����� xi �
� limt→t−i

x(ti)� ��� ��

� ����� 0��� ���
�� 
����	��� �	� x+
i �
� limt→t+i

x(ti)�

��� ��

� ����� 0��� ����� 
����	��� )�������� �� 
��� λ−i �	� λ+
i ��� ����� 
� ��� ����
�

���
� 0��� ���
�� �	� 0��� ����� ��� 0����� 2�
������ 

	����
	� �� ��� 0��� �
�	�� ����

λ+
i =

∂π(xi, Ii, ti)

∂I
, 728

λ+
i − λ−i = −∂π(xi, Ii, ti)

∂x
, 7C8

H(x+
i , λ

+
i ) −H(xi, λi) − ∂π(xi, Ii, ti)

∂t
= 0. 7J8
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�� �!� �����"���� "� �!��������<� �!� ������� ��� ���� �� � � ���%��� 7/8( )� 1��� �%����
�!� ���� � ������ �� � � ���%��� 7/8 ��' �!�� �����' �� �� � #�����& ���%��� 7/�8 ��
��'�� �� ����� ���%��� 7/8( )� �� '& �!� � #�����& ���%��� ��$��� ���� ���� �� �!� ����
�� �� �������� ��� ���� ��' � ��� ���� �� �!� %� �'��&(

��� ��������� 	� �� 	������ �������� �	����	� 	� ���

)� 1��� '�1�� �!� ���'������ �� g ��' F  �'�� "!��! �!� %�!���� � ��� ����� ���� �!�
������� ��� ���� �� ���%��� 7/8 �� � �&������ %�!���� � [x, x̄] ���������� ��5

• ������� �!� ���� ��� xt ���"  ���� x̄� 7"��! x0 ≤ x̄8�

• !������ �� x(

)� '�1�� �!� �����! �� � �&��� �� �!� �����"��� "�& 7��( �����'�# 2(+85

τ(x, y) =

∫ y

x

1

F (u)
du.

��� �!�� �&������ %�!���� �� "� '�1��

G(x, x̄, x0) := g(x̄, x)
e−rτ(x0,x̄)

1 − e−rτ(x,x̄)
. 7?8

G ���������'� �� G ��� �' �� �!� ��6 ����5 t0 = τ(x1, x̄)� ti = t0 + iτ(x, x̄)� ��� i = 2...�
xi = x̄, xi − Ii = x� ��� i = 1...(

��� ��� ��������� ��	
��� ����

���  � �����' �� �!� � #�����& ���%���5

(PA) = max
x,x̄;x≤x̄

G(x, x̄, x0).

�� ��� ������' �� 1� �� ((� "� !��� ��" "������ � � ���%��� �� ���& '����'��� �� �!�
����$ ������ x̄ ��' x( )� 1��� ����&�� �!� �&�� �� ��� ����� �� �!�� � #�����& ���%���(
�� ������ ���� "� "��� �� $��" "!��!�� �!� ���� � ������ �� ��#���<�' �� �� ��������
��� ���� 7��� x̄ �= x8 �� �� � %� �'��& ��� ���� 7��� x̄ = x8(

)���� �� ���
���� ��	�����

�
!!� � �� "x, x̄' �� � �
����
	 �
 ��� �� ������ ��
���� "!(' ���� 0 < x < x̄ < K
"�	����
� �
����
	'� ���	 ��� ���� 
���� 

	����
	� ��� ����	 ���

1

g

∂g

∂x
= −r 1

F (x)

e−rτ

1 − e−rτ
, 73B8

1

g

∂g

∂x̄
= r

1

F (x̄)

e−rτ

1 − e−rτ
. 7338

2



7��� �����'�# 2(, ��� �''�������� �#���������� �� �!� �����8(

��
��
! ) )�� "x∗, x̄∗' �� �	 �	����
� �
����
	 
� "!('� ���	 ��� ����� ��	
��
	 
� "!'
���

v(x) =

⎧⎨
⎩

G(x∗, x̄∗, x) if x ≤ x̄∗

g(x, x∗) +G(x∗, x̄∗, x) if x > x̄∗.

�
��
��� ��� 
������ �
����
	 
� "!' �� ����	 ��

xi = x̄∗, Ii = x̄∗ − x∗, t0 = τ(x0, x̄
∗), ti = t0 + iτ(x∗, x̄∗), i = 1....

"���%� ��� �����'�# 2(G(

)���� � ��	����� �� ��
 ��������

���  � ��" � �� �� �!� ����5 x = x̄ = x 7�!� ���� x = 0 ��'K�� x̄ = K "��� %� �#�� '�' ��
� � �� '&8( ���� �!�� �� �!�� ����� 7?8 �� ��� "��� '�1��' ����� �!� '���������� �����!��(
��� �� �!������� limx→x̄ g(x, x̄) = 0( �!���� �!� �����%��� ��' "����5

g(x, x̄) := ḡ(x̄, I); I = x̄− x.

���� "� ��� �� �!�� �!� ����� �� ∂ḡ
∂I

�� "��� '�1��'5

lim
I→0

∂ḡ

∂I
(x̄, I) := ḡI(x̄),

G ��& %� '�1��' %& ������ ��& "!�� x̄→ x �� �!� �����"��� "�&5

G(x, x, x0) = ḡI(x̄)
F (x)

r
e−rτ(x0,x). 73+8

�!� ��#���<����� ���%��� %������5

(PAbord) := max
0≤x≤K

G(x, x, x0),

"!��� G �� ����� %& 3+(
�!� 1��� ��'�� ���'����� ��� �!�� ��" ������<����� ���%��� ��5

ḡ′I(x)F (x) + ḡI(x)[F
′(x) − r] = 0. 73,8

)� '����� %& x∗ �!� ��� ���� �� 73,8(

)���) � 	��' ���� *	��'+� 
��������� 
�����	 
��


@����� �!��������<�' �!� �&�� �� ��� ����� �� � � ��� ��� ������� ��'��� "� ��� ����%���!
� 1��� ���$ �� �!� ������ � � ������� ��'��( ��'��'� "� ��� ��� �!�� ���'����� 73,8
������'�� "��! �!� �6 ����� "!��! '��������� �!� ����'& ����� �� �!� �����"��� ���� ���
������� ������� ���%���5

max
h

∫ ∞

0

e−rtḡI(x)hdt,

ẋ = F (x) − h,

��� x0 ����� ��' 0 ≤ h ≤ hmax 7��( �����'�# 2(3� 73,8 ��' 7+B88( �!�� �� ��'��' �!� "���
$��"� �������� ���' ������& � �� �� ���� ��� �#���������� *,-(
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��	�	� ��� ������� ���������� ������� ��
� 
�� �
����� �	� ����� � 
����	�
��� 
��� x = 0 �	�:
� x̄ = K�
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	��
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��� v(x∗)� ���
� ��
���

����� �
 ��� ��
�� ��	
��
	 g(x, x̄) �� ������� ���	 G(x∗, x∗, x∗)� ��� ���	 
� ���
��	����� 

	��
� �
���� ���

����� �
 ��� ��
�� ��	
��
	 ḡI(x)�

• �� 
�	 ��
� ���� �� ��� �
����
	 
� "!(' �� 
	 ��� �
�	���� x = x̄ ���	� ����� �
��
	
� � ��� � �
����
	 �
� "!' ��� � �����	
� 
� 
�
��
�� ������� 

	��
�� ���� x̄−x = ε
����
�
��	� ��� ����� G(x∗, x∗, x0), ∀x0� �	 
���� �
����

lim
ε→0

G(xε, x̄ε, x0) = G(x∗, x∗, x0).

5
� ��� ��

�� ��� #.&�

/������� '�.����� ����� �� ���� � ������� "� ��� �!�� �!� ��#�� � ��& %� ����!�' ���
x̄ = x 71� �� +8� �� ��� x̄ �= x 71� �� 38(
������&� �!� ��� ����� �� �� �������� �� � %� �'��& ��� ���� �� � � ��'�� '����'� �� �!�
���1� � ������ �!�� �������( A��� "� !��� '��������' �!�� ���1� � ������� "� ��� �%�� ��
����%���! � ���������!�� %��"��� ����$0� ��'�� ��' �!� ��� ��� ������� ��'��� �� ����� ��
!������ ���������� 7��� �����8� !������ ���'������ 71��� ��'�� ���'������8 ��' !���������
�����( )� "��� ��" � �� �� �!� 6 ������ �� �!� �&�� �� ���1� � ������ "� �!� �' �����' ��(

� ��� 

��	� �� 	��� ���	�
��� �� ��� ���� �� �����
��

�!� ���� � ������ �� �!� ���� '���������� ������� �� �!� �#��������� �� ���& ���1�
� ������� �� '��' �� �!� ������� ��( ��'��'� ���1�� ��� '�����%�' �� �!� '�.������ %��"���
%���1�� ��' ������ "!��� %���1�� ��� �����& �#������' �� &���'� 7!������ ����� ������� ��
������ ���  ��� �� ����!8 ��' ����� ��� ���� ������# � �������� '����'��� �� �!� �������
���������� �� �!� ������ 7�!� � �%�� ��' �&�� �� ������� �� �!� � �%�� �� 1�!�����8� �!�
�% �'���� �� �!� ���� ��� ����$� ��' �!� ��� �� �� !������ ���  ��� �� ����( �� �!�� ������
"� '������ ��! '�.����� ���1� � ������� %& '������ ��!��� �!�  �'���&��� ���� � �������(
�� ������ ���� "� �� '& ����$ '����'��� !������ ���� � �������� � �! �� �!� ��� �������'
%& ����$ *,- ��� �!� ������ ������ � � ������� ��'��( ��������� ���� �!�� ������ � �
���� � ������� ������� '�.����� �&��� �� ��� ��� ���� � ������� !��� %��� �������' ��
�!� �������� ��( �!�& '� ��� ���' �� �!� ���� �&�� �� ��� ���� �� � � ��� ��� �������
��'��( �� ��� "!&� ���  � ����&�� ���� ������ ��� ���� � ������� �� �!� �����"���( �� ����
������!������� ��' �� ��'�� �� ����%���! � ���$ �� �!� ������ � ��������� "� "��� ���������
����� %��$ �� ���1��� ������' �� �����(

��� � ������
�� ��	 � ������	�

,����  
��-��# ��
 
��� %��
���� %��! ��
 $����
���� %��
����

����$ *,- '������ �!� �%;������ � ������ ��� �!� ������ � � ������� ��'��( �!� !������ ����
h(t) �� '��������' %& �!� ����$ ��<� x = x(t) ��' �!� ���� �� !��������� �.��� E = E(t)

J



� �! �!�� h = Q(E, x)� "!��� �!� � ������ Q(E, x) �� �!� ���' ����� � ������ �� � �����
���� ��� ��' ���&( ����$ ��� ��� �!�� � ������ �� %� � ��%%
�� ���� �&�� � ������ �� �!�
����

Q(E, x) = aEαxβ ,

"!��� a�α ��' β ��� �������� ��������� ��' ���������& α = 1( �!� � ������ axβ ��� %�
�������' "��! �� ��%�����&� ���'��������� � ������ G(x)� � �! �!�� h = Q(E, x) = G(x)E
��' E = h

G(x)
( ��#�� ����$ ��� ��� �!�� �!� ���� �� �  ��� �� �.��� �� ���� � ��������5

c = CE( �!��� �!� ������ � � ������� ���� � ������ ��� %� "������ ��5

cc(x, h) = CE =
C

G(x)
h

��'� ��� a = 1 ��' β = 1� "� !���5

cc(x, h) =
C

x
h,

��' �!� ���������' ����������� � ���� �� �� �!� ����5

gc(x, h) = (p− C

x
)h,

"!��� p �� �!� ���� ��� �����(

,���� � �
$����	
 $���� %��
���� %�� ��� �!$�	�
 
�����	 $���	
!

�� ��� "���� �� ��������� �!� !��������� ������� �� � '������� �������� ��� ��� �����" �!�
��������� �������' %& ����$ 7; ��  ���� !������ ��� �� ��' �.��� �� � ����� �� ����8(
�!� ��� ����� ���1� � ������ "��� %� � ������%�� � ������ �� �!� ����5

g(x, x̄) = a(x̄)d(x̄− x).

"��$������� � )�� x∗ �� �
����
	 
� "+,'� �� a(x∗) > 0 �	� d′′(0) + d′(0)a′(x∗)
a(x∗)

> 0 ���	

����� � ���� �	 �	����
� �
����
	 �
 ��� �� ������ ��
���� "!('�

"���%� )!�� g(x, x̄) = a(x̄)d(x̄− x)� �6 ����� 73+8 �� ����� %&5

G(x, x, x0) = a(x)d′(0)
F (x)

r
erτ(x0,x).

���� �6 ����� 73,8� "� $��" �!�� 1��� ��'�� ���'������ !��' ���

a′(x)F (x) + a(x)(F ′(x) − r) = 0. 73G8

)� ��� '������ G �� � ����%� �!��' �� �!� �������� x = x̄  ���� � ��&��� ������

G(x+ h, x+ k, x0) ∼= G(x, x, x0) +
F (x)

r
erτ(x0,x)B(x),

?



"!���

B(x) =

{
ε

2
a(x)

[
d′′(0) + d′(0)

r − F ′(x)
F (x)

]
+ hd′(0)

[
a′(x) − a(x)

r − F ′(x)
F (x)

]}
, ε = h−k.

�� �!��� �#���� h ��' ε > 0 � �! �!�� B(x∗) > 0� �!�� �!��� �#���� � '�������� ��������
�� �!� �������� �� �!� '����� 7"!��� x < x̄8 "��! ������� ���1� �!�� G(x∗, x∗, x0)( �!��
����� �!�� �� �!�� ���� �!� ��� ���� �� ��� �� �!� %� �'��& x = x̄( ����� �!�� x∗ ����1��
73G8 �!�� � E����� ���'������ ��� �%������� B(x∗) ������� �!�� <��� ���5

a(x∗) > 0

��'

d′′(0) + d′(0)
a′(x∗)
a(x∗)

> 0.

&
!��' . • ��� ��
�� ��	
��
	 ������� �� �����	��	 #$%& ���
	�� �
 ���� 
���� �
�
g(xi, xi − Ii) = (p− b/xi)Ii ����� a(x) �� �	
�����	� �	� d(I) �	
�����	� �	� ��	���
��	
��
	��
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	��
� ��
����� �	 ������
	� ���	 a(x) = p−b/x�
d(I) = I� ���	� ���

����� �
 ��� �
����
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�� ������� 

	��
� ��
���� ��� �������
���	 ���	� ���

����� �
 9����;� 
��� "�	 ���
� 

�� ��	
��
	 �� c(x) = b/x'�

��� �� ����!��� ��	 � ������	�

,����  
��-��# �� �!$�	�
 $���� %��
���� %��! � 
��������� $���� %��
����

)� ��� ���� '����� �� ��� ��� ������� ���1� � ������
∫ x̄

x
[p − c(x)]dx ���� �!� ����'��'

������ � � ���1� � ������ (p− c(x))h 7��' ��0� ������� � �����8  ��' �� � ���� ��� �������
���%��� 7��( �����'�# 2(38( �� ����$0� ��'��� �!� ������� �������! ���! �� � � ������ ��
�!� ��#�� � !��������� �������& hmax( ������� hmax %����� ��1���&� �!� �������! ���!
� ��� ��"��'�  ���� '�����%��� � '������� !��������� �������( �!� ���������'��� ���1�
� ������ �� '�����' �� �����"�5
���� �� ��� ����� 6 �������� x0 ��' x1 "��! x1 < x05

lim
hmax→∞

∫ t1

t0

(p− c (x(t)))hmaxdt, ẋ(t) = F (xt) − hmax, , x(t0) = x0, x(t1) = x1.

���5 x(t) = u � x(t0) = x0� ẋdt = du � x(t1) = x1( )� �! � !���5

lim
hmax→∞

∫ x1

x0

(p− c(u))
hmax

F (u) − hmax
du =

∫ x1

x0

(p− c(u)) lim
hmax→∞

hmax

F (u) − hmax
du

=

∫ x0

x1

(p− c(u))du .
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�����	 $���	
!

���  � ��" � ����� �!� �%��� �������� ���� ��� �!� ���1� � ������5

g(x, x̄) =

∫ x̄

x

[p− c(x)]dx, c(x) =
b

xα+1
, F (x) = g0x(K − x), α ≥ 0. 73F8

�� �!�� ���� "� �%���� �!� �����"��� ��� ��5

"��$������� � 5
� g �	� F ����	 �� "+3'� x∗ �
����
	 
� "+,' �� � ��
��� �� �����

"���%� )� ��� ����� �� ����� �!�� ∀x < x̄ "� !��� H(x, x̄) := ∂G
∂x

(x, x̄) > 0 !����
x = x̄ = x∗ �� � ���%�� ��#�� �( �����'��5

H(x, x̄) =

[
−p+ c(x) + [p(x̄− x) −

∫ x̄

x

c(u)du] e−rτ r

F (x)(1 − e−rτ )

]
e−rτ

1 − e−rτ
.

)!��� τ = τ(x, x̄)L ���0� �� '& �!� ���� �� H(x, x̄)(

H(x, x̄) =
H2(x, x̄) x (p− c(x))(K − x) + α x g0 (K − x) +H3(x, x̄)

H1(x, x̄)

"!���5

H1(x, x̄) = α x g0 (K − x)

[(
x̄(K − x)

x(K − x̄)

) r
g0K

− 1

]
< 0,

H2(x, x̄) = −α g0

(
x̄(K − x)

x(K − x̄)

) r
g0K

< 0,

��'
H3(x, x̄) = r p α(x̄− x) + r b c (x̄−α − x−α).

)� !��� �!�� H3(x̄, x̄) = 0 ��'
∂H3

∂x
(x̄, x̄) = r α(−p+ c(x))( ��� ��� x � �! �!�� −p +

c(x) < 0 "� !��� H3(x, x̄) > 0( ��� �!��� ���6 ������� ����& �!�� H(x, x̄) > 0(

&
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c(x) = b

xα+1 �
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����� �!� ���& '�.����� ��� ����� ��' �����& ������������ ��� �!� �"� ���� � ������� �� '

��'� "� ��& ��$ "!��! � ������ �� �!� ���� ���%�%�� �� �!� 1��'( �!��� ��� ��� ���&
����������� ����������� �� ����
� ������� �� ����"�%�� ���� ��� ���������( >������ ��

���� ���1�� �����!����� �!�� ����� '����' �� %��!� !��������� ��' ���� ��� ����$�� ��'
��� �� �!� ������� ����5 c(x, h)�( ���0� ����������� �� �!� 1��� ����� �� 1�!��& ���������
��' ��� � �� ������ "��! � ������ � ��& �������� ���� ��� ����$ ��' ��� ��� �����( 
���
�� '��� �� �!�� 1��' � ����� �!�� !������ �� ���� ��' %& �!� ������ � � !������ ����� h(t)
7��� ��� �#����� ������� �� ��( 7+BBB8 *?-8� ������� �� ��( 7+BBG8 *3-8 �� �� �!� ��� ��
�� �.�� 7��� ��� �#����� @����� ��' )���� 73??C8 *33-8( A�� �� '& �!�� "� �����'���'
� ������ !������ �� %� ����� %& �!� !��������� ��� ��� h( ��'��'� >���! �� ��( *3J- !���
�� '��' �!� ���� �� �!� ����! ����$�� ����1� !���% � 1�!��&� ���������� � ���� � ������
���� ����
"���' '���( �!�& � ����� ����� �� %� ����$ '����'��� ��' �������& �����# ��
!���������� �� �!� �"� � ������� "� !��� �� '��' �%���( ���������� ��� ��� ���1�� �!���
��� ������5 �!� !������ ���� � ������ �� �����#� �� ����� �� �!� �������� ����� �� �������(
� ����������� ��� � � � ����� �� �!�� �!� � �!��� ��������� !��������� �� � '������� ������
��'  �� � ������%�� ���� � ������� �� ���%������� "��! �!� �������� ���"�! � ������(

� ���	���
��

)� !��� ���1���' �!�� '�.����� ���� � ������� ��& ������� ���������& '�.����� �&��� ��
������� !��������� %�!���� �( )� !��� ��$�� �!� ������ ��� �#����� �� ����$0� ������ � �
������� ��'�� "��! ��� ����� �����%�� ��' "� !��� ������ ���' � ���������'���� ����
�������� ��� ��� ������� ��'��( )� !��� �!�"� �!�� �!� ������� !��������� %�!���� � ��
� � ��� ��� ������� ��'�� ��� ���!�� %� �&������ �� �������� �� � 
��� ����' �������!
/��! ��� ����� ��$� �!� ��� �� ����$0� ������ � � ������� ��'��� '����'��� �� �!� ����
� ������ �!�� ��  ��'( ������&� "� !��� 6 ��������' �!� $��' �� ��� ��� ���� � ������
7��' ���1� � ������8 �!�� �!� �' %�  �'���&���( �!��� ��� ���& ��" ���������� ��� ���
�� '&����� %���������� ��'��� �� �!� ������� ��( �!��� ��������� �� '��� "� '��� ���'
���1�� �!�� � ����$ '����'��� !������ ���� � ������ �� ���%�������� "��! � ��������
���"�! � ������ �� �������& �'����' �� ��������� '���( >� '��� �� �!��� %& >���! �� ��(
*3J- � ����� �!�� ���� "���' ���� � ������� ��� ������%�� ��' ��� ���
���������� �� ���� ���
����$�( �!�& ��� �������& �����# �� !��������� ��� �!� �������� ����� �� �.���( �� �''������
� �!��� �� >��� �� ��(� � ����� �!� !��������� ������� �� %� � '������� �����( @�"�����
�� � � $��"��'��� �!��� �� �� '������' �� '& �!�� ��& ��'����� "!��!�� !������ '��������
�!� �' %� ��'����' �� ������ � � ��������� �� '�������� �� � ����� �� ����( ��������� '���
��& %� ���!���' �� ��'�� �� ���"�� �!�� 6 ������ ��' �� 1�' � � "!��! $��' �� ��� �����
"��� ����& �� '�.����� ���� ��� �������(

����	 ��� �
�� ������ �� ����	�
 ��
��	�� c(x, h, k) ��	 	��� ����	��� ��� �� 	����
�	�� �� 	�� ������
��� ������	��	

���� � 
����� ������ 	�� �������	��� �	��� ��
��
� �������
���	���� ��� ������������� ������	�� ��
��	 ����� ���	 	������
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�

#�� ��� ��$������! �	$��% � ���!���� 	������ �	���	� �	$��

�� � ����'��' ����$

 ��� ����"�%�� ���� ���� ��'�� 7��( ����$ *,-� ����$ ��' 
 ���
*G-8 �!� ���& ������� �����%�� �� �!� !������ ����� h(t)( �!� ������� !��������� ���%���
��� %� �����' ��5

G∗
c(x0) := maxh(·)

∫ ∞

0

e−rt [p− c(x(t))] h(t)dt 7328

ẋ(t) = F (x(t)) − h(t) 73C8

x(0) = x0 73J8

0 ≤ h(t) ≤ hmax 73?8

�� �!� ���1� � ������ 7328� x(t) �� �!� ����� �� �!� ���� ��� ����$ �� ���� t� p ����������
�!� ���� ��� ������ c(x) �!�  ��� !������ ����� ��' r �!� '���� �� ����( �!�  �'���&���
������ � � ������� ���� � ������ cc(x, h) �� ������ �� !� �� �!� ���� cc(x, h) = c(x)h( �������
���� ��� ����$�� x0� ��� $��"� ��' �!� !������ �������& �� %� �'�' %& hmax( �!� ��� ���
���"�! �� ����$ '����'��� ��' ����� %&5 F (x)(
�!� ���1� ��#������� ����$ ����� ���'� �� � ����'& ����� "!��! �� � �! �!�� �!� ��������

���' ������& � �� ���� '��� �!� ����$ �.��� !��'� 7����$ ��' 
 ��� *G-�*,-85

F ′(x∗) − c′(x∗)F (x∗)
p− c(x∗)

= r 7+B8

�� 7+B8 x∗ ����'� ��� �!� ����'& ����� ����� �� �!� ���������'��� ���%���( 	���� �!�
���"�! ��' ���� � �������� �!� ����'& ����� ��� %� ���� ��'( �� ������ ���� �!� ��� ���
���"�! F (x(t)) �� ����� %& 7+38 ��' �� � �����' �� %� ��������(

F (x) = g0x(1 − x

K
) 7+38

"!��� g0 �� �!� ��������� ���"�! ���� ��' K �!� ����&��� �������&(
�� 7+B8 !�� �  ��6 � ��� ����� �!�� �!� ������� �����& �� �!� ���� ����' �������! ���! ��
�!� ����'& ������ �(�( �!� !�������� �!���� ��#�� � !������ �������& hmax �� x �������
�!�� x∗� !� "���� �� x ������� �!�� x∗ ��' !� ��$�� �. ; �� �!� �''������� ���"�! ���� �!�
����'& ����� �� ����!�'� x = x∗(

#�� &�	' ��$ �������! ����% $���(���	� 	� τ(x, y)�

�����'�� � :�" φ(t; x)� ��� ���� �� �!� A�� ẋ = F (x)( )� !��� �!� �����"��� �������&5
φ(t;φ(s, x)) = φ(t+ s; x)� "!��! ������� �!��5

∂φ

∂x
(t;φ(s; x))

∂φ

∂t
(s; x) =

∂φ

∂t
(t+ s; x),

∂φ

∂t
(t; x) = ẋ(t) = F (x(t)) = F (φ(t; x)),

3,



��' !����5
∂φ

∂x
(t; x) =

∂φ

∂t
(t; x)/

∂φ

∂t
(0; x) = F (φ(t; x))/F (x).

�����'�� ��" τ(x, y) �!� ���� �� ��� ���� x �� y ��� �!� :�" φ( )� !���

φ(τ(x, y); x) = y. 7++8

��.����������� 7++8 "��! ������� �� x5

∂τ

∂x
(x, y)

∂φ

∂t
(τ(x, y); x) +

∂φ

∂x
(τ(x, y); x) = 0,

��' ���� �!�� �6 ����� "� �%����5

∂τ

∂x
(x, y) = −∂φ

∂x
(τ(x, y); x)/

∂φ

∂t
(τ(x, y); x) = −F (y)

F (x)

1

F (y)
= − 1

F (x)
.

��.������������ 7++8 "��! ������� �� y5

∂τ

∂y
(x, y)

∂φ

∂t
(τ(x, y); x) = 1 ⇒ ∂τ

∂y
=

1

F (y)
.

�!�� τ(x, y) �� �!� ��� ���� �� �!� �����"��� ������� '�.�������� �6 �����5

∂τ

∂x
= − 1

F (x)
;

∂τ

∂y
=

1

F (y)
; τ(x, x) = 0.

��� ���� �!��
τ(x, y) = A(y) − A(x)

"� ����� '� �!��5

A′(x) =
1

F (x)
, A(x) =

∫ x

0

1

F (u)
du

��'

τ(x, y) =

∫ y

x

1

F (u)
du. 7+,8

#�� )��$� 	� ������	� *

���  � ����&<�

G(x, x̄, x0) = g(x̄, x)
e−rτ(x0,x̄)

1 − e−rτ(x,x̄)
= g(x̄, x)

e−rτ(x,x̄)−τ(x,x0)

1 − e−rτ(x,x̄)

�� x ≤ x0 ≤ x̄� �� �!� ���!� �� �!� �'�����& τ(x, x̄) = τ(x, x0) + τ(x0, x̄) ��'  ���� �!�
�������!��� '���������5

lnG = ln g − rτ − ln(1 − e−rτ ), τ = τ(x, x̄).
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��'

1

G

∂G

∂x
=

1

g

∂g

∂x
− r

∂τ

∂x
(x, x̄)

e−rτ

1 − e−rτ
,

1

G

∂G

∂x̄
=

1

g

∂g

∂x̄
− r

∂τ

∂x̄
(x, x̄)

e−rτ

1 − e−rτ
.

)��! �!� �'�����& �� τ � "� !���5

1

G

∂G

∂x
=

1

g

∂g

∂x
+ r

1

F (x)

e−rτ

1 − e−rτ
,

1

G

∂G

∂x̄
=

1

g

∂g

∂x̄
− r

1

F (x̄)

1

1 − e−rτ
.

> ����� "� !��� �� �������� ��� ���� 7��( �6 ������ 73B8� 7338 �� ����� 385

1

g

∂g

∂x
= −r 1

F (x)

e−rτ

1 − e−rτ
,

1

g

∂g

∂x̄
= r

1

F (x̄)

e−rτ

1 − e−rτ
. 7+G8

�!��� �6 ������ ����&
∂g

∂x
/
∂g

∂x̄
= −F (x̄)

F (x)
e−rτ(x,x̄).

���� �!�� �!�� ���� �6 ����� ������'�� "��! �6 ����� 7J8(

#�� ��		� 	� ���	��� ���

������ �����'�� x0 < x̄∗( �����'��� �� �!����� 3� �!� ��� � � ������ �� ���%��� / ����1��5

v(x) = max
y∈[0,K],t≥0

e−rt [g(φ(t, x), y) + v(y)] , 7+F8

"!��� φ(t, x) �� �!� '&������ �� �!� �&����( �� � � ���%��� φ(t, x) = x̄ ��' t = τ(x, x̄)(
)� �!�" �!��

v(x) = G(x∗, x̄∗, x) = g(x̄∗, x∗)
e−rτ(x,x̄∗

)

1 − e−rτ(x∗,x∗)

����1�� �6 ����� 7+F8� �(�( ����1��5

v(x) = max
x̄,y∈[0,K]

ψ(x, x̄, y), ψ(x, x̄, y) := e−rτ(x,x̄) [g(x̄, y) + v(y)] . 7+28

����� �� ��� "� ��� ����� �� ����� �!�� �!� ��#�� � �� ψ �� ����!�' �� 7x∗, x̄∗8� �� ����5

∂

∂y
ψ(x, x̄, y) = e−rτ(x,x̄)

[
∂g

∂y
+ r

g(x̄∗, x∗)
F (y)

e−rτ(y,x̄∗)

1 − e−rτ(y,x̄∗

]
= 0. 7+C8

∂

∂x̄
ψ(x, x̄, y) =

−re−rτ(x,x̄)

F (x̄)
[g(x̄, y) + v(y)] + e−rτ(x,x̄) ∂g

∂x̄
= 0

⇔ −r
F (x̄)

[
g(x̄, y) + g(x̄∗, x∗)

e−rτ(y,x̄∗)

1 − erτ(x∗,x̄∗)

]
= 0. 7+J8

�6 ������ 7+C8 ��' 7+J8 ���������' �� �!� 1��� ��'�� ���'������ �� /�(
������& "� ����� �!�� v(x) = G(x∗, x̄∗, x) �����1�� �!� '&����� ����������� �6 ������ ��

3F



����5
max

y∈[0,K]

{
e−rτ(x,x̄) [g(x̄, y) +G(x∗, x̄∗, y)]

}

= e−rτ(x,x̄∗)
[
g(x̄∗, x∗) + g(x̄∗, x∗)

e−rτ(x∗,x̄∗)

1 − e−rτ(x∗,x̄∗)

]

= e−rτ(x,x̄∗)

[
g(x̄∗, x∗)

1

1 − e−rτ(x∗,x̄∗)

]
= G(x∗, x̄∗, x)

&
!��' 0 �
� x > x̄∗ �� �� ���� �
 ������ ���� ��� ����� ��	
��
	 � ���

v(x) = g(x, x∗) + v(x).

�
 

	
�����

v(x) =

⎧⎨
⎩

G(x∗, x̄∗, x) if x ≤ x̄∗

g(x, x∗) +G(x∗, x̄∗, x) if x > x̄∗
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